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PART A: Vocabulary

Directions: Choose the numhber of the answer (1), (2), (3}, or (4) that best completes the sentence. Then merk
your choice on your answer sheel,
- =g

=7 i S
| -George did not spend his ............... money; he save it and the invested it in small busingsses.
- 1) peculiar 2) infertile 3) surplus 4) deliberate

2 -The government requests that we encourage the planting of new trees and ............... our existing

woodlands.
1) frustrate 2) pursue 3) restore 4) preserve
3 - We don't intend to go with him, in fact, as far as we know, he enjoys long, ............... walks.
1) unsiable 2} ohnoxious 3 solitary 4) intentional

4 wDue to its high population, this country needs a birth control method that it be both cheapand ............... ’
1) evident 2) customary 1) reliable 4} humans

5 _The current situation is not that much [rightening, but officials fear that CXIFEMISIS MAY ....oieeeeenos

violence. :
1) anticipate 2) betray 3) linger 4} resort

. § ~The company managers promised they would make no staff ............... for at least two years.

1) reduction 2} exhaustion S 3) objection 4) anticipation

in recent years, the movie industry has undergone a dramatic ...............

7 = According to industry specialists,
4 transformation

1y hesitation 2} exclamation 1) elimination

8 _We started at the long brownish ............... thing floating in the river, wondering if it was a log or an

alligator.

1Y conscientious 2} horizontal 37 transparent 4} intense
9 . A lot of people make the ............... that poverty only exists in the Third World,
1) creed 2) assumplion 3} preference 4) tolerance
10~ Some of the companies may go bankrupt; in fact, their money problems were further: i b by a
rise in interest rates.
1} recollected 2) advised 3} maintained 4% aggravated
1l Wemped: 3. idit i tropical forests to prevent the extinction of some species of animals and plants.
1) prescrve 2) revise 3} penalize 4} bewilder
= e e er S Ll ey

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits euck blank | Fren

mark vour choice on your answer sheel.
— L TTH

¥ ST .

Jane Goodall was born in London, England, on April 3, 1934, On her second birthday, her father ... .(12)...
her a toy chimpanzee named Jubilee. Jubilee ....(13).... after a baby chimp in the London Zoo, and seemed 1o
Toretell the course Jane's life would take. To this day, Jubilee sits in a chair in Jane’s London home. From an
early age, Jane was fascinated by animals and animal stories. By the age of 10, she was talking about going 10
Africa ....(14)... among the animals there. At the time, in the early 1940s, this was a radical idea because

women did not go to Afticaby ....(13).....

4758

Ly who gave 2% had given 3) has given 4) pave
13 . :

1} named 2} was named 3 who named 4y who was named
144

1) to live 2} living 3} to living 4) live

Y % F90
' 1} them 2) themselves 3 their . 4) they
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the hest choice (1),

(3), or (4). Then mark the correct choice on your answer sheel.
cas vk o e S R e ST I el T

(2).

Passage 1

Most software written today is written in high-level languages. There are many and some are quite old.
COBOL, FORTRAN, and Lisp were written in the 1950s!!! Higher-level languages make it easicr to describe
the pieces of the program you are creating, They abstract away the specifics of the microprocessor in your
computer. Most come with large sets of common stuff you need to do, called libraries.

Tn this introduction to programming, you will work with two computer languages: Logo and Java.

Logo comes from Bolt, Beranck & Newman (BBN) and Massachusetts Institute of Technology (MIT).
Seymour Papert, a scientist at MIT's Artificial Intelligence Laboratory, championed the computer programming
language in the 70s. Java is one of the newest programming languages. It appeared in 1995 just as the Internet
was starting to get lots of attention, Java was invented by James Gosling, working at Sun Microsystems. It's
sort-of a medium-level language.

With Logo, you will be able to write compulcr programs quickly and easily since it is
Once you have some experience with it, you will move to wrtiting programs in Java.

One of the advantages of learning Java is that there is a lot of software already written which will help yop
write graphical programs that run on the Internet. You get to fake advantage ol software that thousands of
programmers have already written. So, you are not limited to working with numbers and characters; you get o
work with window objects, canvas objects, string objects and thousands of others. You will not be limited to,
simple operations like adding two numbers; you will use operations like creating a new window, draw a line,
display some lext in a window, and much, much more,

16 - What does "They abstract away the specifics of the microprocessor” mean?

1} They have extra applications such as librarics.

2) They simplify the computer hardware for the microprocessors processing.

3) They make the Tunctions of microprocessors, understandable.

4} They summarize the microprocessors. '

a very simple language.

17 ."Championed” in paragraph two can be replaced by:
1} Completed A Wrote 3) Supported 4y Ontdid
18 - According to the passage which of the below is not correct about the comparison between logo & java?
1} Java is newer than logo. i1t T '
2) Logo is quicker for programming.
-3} Java is easier to understand than logo.
4y Logo is simpler than Java there fore mare suitable for starters.

19 - According to the passage one main advanlage of Java is:
1) There are many software writlen with Java.
2) You can work with numbers & characters.
3} You can write thousands of programs.
4) You don't need to write graphical programs.
20 . Which is the best title for the passage?
1y Advantages of Java 2) Programming languages
3y Comparison between Java & Logo 4) Famous programimers

Passage 2

Today, most people dun'l need to know how a computer works. Most people can simply turn on a computer
or a mobile phone and point at some little graphical image on the display. click another button, and the
computer does something, An example would be for it to get weather information from the net and display it.
This is all the average person needs to know about using a computer (or any device that's computer based).
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But, if you want to know how to write Computer programs. you need to know a little bit about how a
computer works, Your job will be to instruct the computer to do things. These lists of instructions that you will
write are computer programs, and the stuff that these instructions manipulate are different types of objecis.

Rasically, computers perform operations on objects. A microprocessor, which is the heart of a compuier. is
really primitive but very fast. It takes groups of binary numbers representing parts of objects and maves them
around, adds pairs together, subtracts one from another, compares a pair, etc ... - that sort of stuff.

Computers manipulate numbers, symbaolic information (think characters), visual things (images), sound
(heard of MP37), and sets of instructions (the computer's native language).

As an example, computer displays consist of a bunch of coloured points called pixels. A pixel is an object. Jt
has a positipn which consists of the row and column it is in./lts colour is specified as three numbers - called
RGB (Red, Green, and Blue) values.

So, like pixels are used to compose graphics and images, there are also standard representations for the other
things: numbers, characters sound, and the computer's instructions, At the lowest level everything is a bunch of

cnes and zeros!
21 ~From the first paragraph of the passage it could be understood that:
i) The average user doesn't know the simple functions necessary for operating.
2 The average user only knows how to tum a computer on & off.
3} The average user doesn't know how to operate a computer.
4 The average user knows how to navigate the net.

22 2 According to the passage computer programs are:
1) Instructions about how the computer works.
2 Instructions that manipulate how the computer works.
3) Instructions that manipulate different objects.
47 Objects that tell the computer to do things.

23 .How do computers perform operations?
1) Groups of binary numbers represent objects.
2y Adding or subtracting numbers.
1) By manipulating numbers, characters, images, sounds & efc.
4) By using primitive microprocessors.

24 _ Which of the below js correct about the visuals presented by computers?
1) It is presented by pixels which itself is introduced by RGB position numbers.
T} It is presented by colored points presenting numbers.
3) It is presented by three numbers presenting the position of colored points.
4) It is presented by two numbers presenting the color of pixels.

25 <"It's" in paragraph 5 refers to:
1) The position 2) The row & column 3) An object ' 4) Pixel

Passage 3
From a problem-solving perspective, the tools that emerge from the field of Computational Inteiligence are
generally assessed with regard to their utility as efficiently or effectively solving problems. An important lesson
from the No-Free-Lunch Theorem was toibound claims of applicabilify that is to consider the suitahility of g
f a given problem domain. From u

given strategy with regard to the fealure overlap with the atributes o
Computational Intelligence perspective, one may consider the architecture, processes, and constraints ol a given
strategy as the features of an approach.

The suitability of the application of a particular approach to a problem takes into consideration coneerns such
as the appropriateness (can the approach address the preblem), the feasibility (available resources and related
efficiency concerns), and the flexibiliry (ability to address unexpected or unintended effects). _

A feature of a system (lool, strategy, and model) or a problem is a distinctive ¢lement or property that may
be used to differentiate it from similar and/or related cases. Examples may include functional concerns such as:
processes, data structures, architectures, and constraints, as well as emergent concems that may have a more

b
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subje.n:tive quality such as general behaviours, organizatjons, and higher-order struciures. The process of the
- elicitation of features may be taken from a system or problem perspective:

(System Perspectivé: This requires a strong focus on the lower level functional elements and investigations
that work toward correlating specific controlled procedures towards predictable emergent behaviours,

Problem P&rspccuﬂ., May require both a generalization of the specific case to the general problem case, as -
well as a functional or jogical decomposition into constituent parts. :

Problem generalization and functional decomposition are important and commeoniy used pattemns for problem
salving in the broader fields-of Artificial Intelligence and Machine Leaming, The promotion of simplification
and modularity can reduce the cost and complexity of achieving solutions.

' 26 ."Bounding claims of applicability" is to:

1} Take lessons from No-Free-Lunch theorem,

27 Consider the suitability of a problem domain.

3) Assess the efficiency & effect of computational intelligence.

4) Assess the suitability of a strategy according to the overlaps of the architecture process & ete with the
attributes of the problem.

~ 27 - Which is correct about the suitability of the application of an approach to a problem?
1) It only checks weather the approach addresses the problem or not.

2} It takes into consideration, concerns over the resourees,
3) It takes into account feasibility, ability to address unexpected situations & ability 1o address the problem.

] It takes into consideration appropriateness, feasibility & ability to unintendedly alfect problems.
28 ."It" in paragraph three refers to:

1) Feature of a system or a problem

3 tool, strategy, model

2% = Which is correct about comparing "system perspective” & "problem perspective”?
1) System perspective concentrates on lower level functions where as, problem perspective focuses on higher

2} Element or property
4) System or prablem

level functions.
2) Problem perspective focuses on constituents whereas; system perspective looks at the whole process.

3) System perspective focuses on pmud:ng procedures that show predictable behaviors where as, pruhlem
perspective focuses on geuera]uatmn & functional dn..campuutmn’l
4} Both perspectives work on generalization & functional decomposition.

30 = Which of the below is the best title for the passage?
1} Assessing problem solving procedures
3} System perspective

2} No-Free-Lunch theorem
4} Features of a system L
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